
 

 

 

  



 

                                             



 

 



 

 



 

 

 

  



 

 

 



 

 

                                                                                                                                                          



 

 



 

 

 



 

 

 



 

 



 

 

 



 

 
                                                                                                          



 

 



 

 



 

 



 

 



 

 



 

 

 

  



 

 

                                                                                      



 

 



 

 



 

 



 

 



 

 



 

 

 



 

 

                                                                            



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 

 

  



 

 

Q 1) Intersection method of 
detailed plotting is most suitable 
for 

a) Forests              b) Urban areas 

c) Hilly areas        d) plains 

 



 

 

Q 2) Three point problem can be 
solved by 

a) Tracing paper method 

b) Bessels method 

c) Lehman's method 

d) All of the above 



 

 

Q 3) The size of plane table is 

a) 750 mm * 900 mm 

b) 600 mm * 750 mm 

c) 450 mm * 600 mm 

d) 300 mm * 450 mm 



 

 

Q 4) The methods used for 
locating the plane table stations 
i) radiation                 ii) traversing 
iii) intersection         iv) resection 
The correct answer is 

a) (i) and (ii)             b) (iii) and (iv) 

c) (ii) and (iv)           d) (i) and (iii) 



 

 

Q 5) If the reduced bearing of a line AB is 
n600W and length is 100 m, then the 
latitude and departure respectively of 
the line AB will be 

a) +50 m, +86.6 m 

b) +86.6 m, - 50 m 

c) +50m, -86.6 m 

d) +70.7 m, -50 m 



 

 

Q 6) Transit rule of adjusting the consecutive 
coordinates of traverse is used where ? 

a) Linear and angular measurements of the 
traverse are of equal accuracy 

b) Angular measurements are more accurate 
than linear measurements 

c) Linear measurements are more accurate 
than angular measurements 

d) All of the above 



 

 

Q 7) The Bowditch method of adjusting a 
traverse is based on the assumption that 
Where e and e are error in linear and angular 
measurements Respectively and i is the 
length of a line 

        

       



 

 

Q 8) Subtense bar is an instrument used 
for 

a) Leveling 

b) Measurement of horizontal distance in 
plane areas 

c) Measurement of horizontal distance in 
undulated areas 

d) Measurement of angles 



 

 

        



 

 

Q 9) Setting out a simple curve by two 
theodolite method does not require 

a) Angular measurements 

b) Liner measurements 

c) Both angular and linear 
measurements 

d) None of the above 



 

 

Q 10) The radial offset at a 
distance X from the point of 
commencement of curve of radius 
R is given by 

      

    


